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MAEC-03
December - Examination 2016

M. A. (Previous) Economics Examination

Public Economics
Paper - MAEC-03

Time : 3 Hours ] [ Max. Marks :- 80
Note: The question paper is divided into three sections A, B and
C. Write answers as per given instructions.
fder: U o ‘o, ‘¥ IR ‘W A @usl § fawia gl vew
Gus & MGATTAR el & IR S|
Section - A 8§xX2=16
Very Short Answer Questions
Note: Answer all questions. Answer of each question should be
given in 30 words. Each question carries 2 marks.
gug - 3’
T ofg ITRIY U9
fAder: oft goAl & S PRV IS U BT IR 30 Teq H

SINTTI T U9 1 37T & 2l
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1) Give answer of the following questions:

feraforRag geat & Iar SfvTu:
(i) Socralistic Economics System.
uTSTaTG! 3nfefas gummett|
(i) Public Goods.
RIENIECAGES I
(iii) Differentiate between tax and fees.
IR TG ged | A DI
(iv) Canon of elasticity of taxation.
PRI H Arefierdr o1 |
(v) Fiscal Policy.
ISt Hifa
(vi) Lump-sum tax.
T DR
(vii) Define Public Undertakings.
Ah IUhHT T TR HifoTT
(viii) Regressive tax system.
TfeRTHt &R gorTet|
Section - B 4X8=32

Short Answer Questions

Note: Answer any four questions. Answer of each question
should be given in 200 words. Each question carries 8
marks.
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(Tvs - 9)
o] IR Y9

fader: fhgl TR UHT & ST SN U U bl IR 200 TS

T U1 UAd U9 8 3Tl & Bl

Analyse the role of state in economic development under
mixed economic system.

i3 amffen TuTTett & ofcrid mfien e o T Y gfienT @
fageryor BT

Differentiate between public finance and private finance.
SIENIECACRNAGRE SR C RGN
Discuss the Principle of maximum social advantage.

Jiferepdd ARG 1 & Rigia &l Tse Hif|

What are the reasons for the growth of public expenditure?

AT+ @1 | gfg & T BRI IE 8 2

Explain the canons of taxation.

PRI b I TIse HINT|

Describe the characteristics of corporate tax.

R R hi fIAuan gagu)

Discuss the objectives of Public Enterprises.

QIS SUhHl B I AU

Write a short note on the classification of public revenue.

FISIep 3T & T IR Teh Gfeg fewoft faRgu|
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Section - C 2%X16=32
Long Answer Questions

Note: Answer any two questions. Answer of each question
should be given in 500 words. Each question carries 16
marks.

(s - 9)
RS NP RS
fAder : gl Q1 weAl & IR SRTTI UAH T BT ITR 500 &g H
SIRTTI IH U9 16 37! BT &

10) Discuss in detail about the major taxes of Union Government
in India.

IRT § Y PR & TG B1 BT fRAR 4§ o HIfg|

11) Mention the types of Public Enterprises in India and discuss
their problems also.

TRT | Alp ST b YBR ATV Ua IeTch AHET 3 aTe] THRITIN
BT Ieelg DI

12) Explain the incidence of taxation under monopoly.

THIAPBR P (T IR YR Pl TS DI

13) Discuss in detail about the benefit theory of taxation.

IRRIOU & o oy Rigid @1 avf= il
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